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SUBJECT – ARITHMETIC      CHAPTER 2 – WHOLE NUMBERS 

TOPIC – Multiplication and Division 

I. Multiple choice questions : (Select the correct option) 

1. _____ X 12 = 12 X 41 

a) 12   b) 10   c) 41   d) none of these. 

2.  0 X 798 = ___ 

a) 789   b) 0   c) 1   d) none of these. 

3. 1245 X ____ = 1245 

a) 345   b) 1245   c) 1   d) none of these. 

4. 10 X 100 X ____ = 0 

a) 10   b) 0   c) 10000   d) none of these. 

5. 824 X 25 = 824 X ( 20 + __) 

a) 3   b) 1   c) 5   d) none of these. 

6. 0 ÷  6789  = _______ 

a) 1   b) 31   c) 0   d) -31 

7. 2428 ÷ 1 = _______ 

a) 2428   b) 1   c) 0   d) none of these. 

8. Find the value of : ( 543 ÷ 543 ) – ( 0 ÷ 543 ) 

a) 1   b) 543   c) 0   d) none of these. 

9. Find the value of : 876 ÷ ( 100 ÷ 100 ) 

a) 1   b) 876   c) 100   d) 0 

10.Find the value of  :  0 ÷ 379 

a) 0   b) 79   c) -79   d) 1 

11. Find the value of : ( 1234 ÷ 1234 ) + ( 1234 ÷ 1234) 
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a) 2   b) 1   c) 0   d) none of these. 

12.Division by _____ is not defined . 

a) 1   b) 0   c) 832   d) -1 

13.Divide   :  1978 ÷ 1978 

a) 1   b) -1   c) 55   d) 0 

14. In the statement n ÷ 56 = 1 , the value of n is 

a) 56   b) 1   c) 0   d) none of these. 

15. 597 X 99 = 597 X ( 100 - ___ ) 

a) 3   b) 1   c) 0   d) none of these. 
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